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Instructions :

i) All questions arc compulsory. .

i) This question paper has two parts ‘A’and B | < ea

iii) Part ‘A’ contains 20 multiple choice type questions of 1 mar ch
that has to be answered on OMR Answer Sheet. |

iv) After giving answer on OMR Answer Sheet, do not cut it and do not
use eraser, whitener etc.

v) Part ‘B’ contains detailed answer type questions of 50 marks.

vi) Total § questions are there in this part.

vii) In the beginning of each question it has been mentioned how many
parts of it are to be attempted. ‘

viii) Marks allotted to each question are mentioned against 1t.

ix) Start from the first question and go up to the last question. Do not
waste your time on the question you cannot solve.

x) If you need place for rough work, do it on left page of your answer
book and cross ( x ) the page. Do not write the solution on that
page.

xi) Do not rub off the lines constructed in a question of construction.
Do write the steps of construction in brief, if asked.

xii) Draw neat and correct figure in solution of a question wherever it

is necessary, otherwise in its absence the solution will be treated
incomplete and wrong.

Qque - A

Part - A
( Tgfawedig w9 )

( Multiple Choice Type Questions )

1. fr=fafaa deaet 7 9y e

(A) V9 B) 3
(C) JO-1 (D) 0-101101110... 1
1. In the following numbers, the rational number is
a) Yo B) V3
(C) JO-1 (D) 0-101101110... 1
2. Q‘f@ﬁﬂmﬂ"ﬂx+y= lO,x-y=4a',13ﬁ{.*
(A) x=5,y=2 B) x=7,y=3
(C) x=7,y=-3 D) x=-7,y=-3 1
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pair of linear equations x + y= 10, x- Y= 4 18
B) x=7,y=3
D) x=<7,y=-3

2 The solution of the
A) x=5,Yy=2
c) x=7,y=-3

5 fag (5,9)M y AT HFE

(A) 14 HIFS (B) 9 HEAS

(C) S HER (D) 106 TATh ]
3. The distance of point ( 5, 9 ) from y-axis is

(A) 14 units . (B) 9 units

(C) S units (D) V106 units 1
4. AR UE wHizETE WEAI e ) O SO 542 S €, A 39 H1 Bl oar

(A) IO@Iﬁ (B) loﬁ ‘@tﬁ'

(C) 15 ¥l (D) 1542 & 1

4. If one side of an isosceles right triangle is 5¢2 cm, then the length of its
hypotenuse is

(A) 10 cm (B) 1042 cm
(C) 15cm (D) 1542 em 1
5. sin®18°-cos?72° FHA &
(A) 1 B) O
1
£ s
(C) . (D) -1 1
S.  The value of sin®18°-cos? 72° is
(A) 1 B) 0
1
(C) 2 (D) -1 1
6. Mwmmpé;%m,mmﬁmmwmm
€) 2p (D) 2
©. For any positive even integer p, eve ; +' 1 .
s ’ 'Y positive odd integer will be of the
A) p
(B) +
(C) 2 s
p (D) 2p + 1
02000/32 1
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[ £ uﬁﬁwaﬁv', 8, x, 11, 14$Tﬁnﬂx%, FﬁxﬁTﬂT’f%
(A) 9 (B) 10 1
(C) 105 (D) 11 |
7. 1f mean of the numbers 7, 8, x, 11, 14 1s X, then the value of x 18
(A) 9 B) 10
(C) 105 (D) 11 ]
g. afe faam qHiwoT ax’ +bx+c=0 %WW?, at cHI AA &
2 2
A ®
A 2
© = D 2= 1

a
8. If the roots of the quadratic equation ax”+bx+c=0 are equal, then the

value of ¢ is
2 2
A) 2. - a
(A) v (B) =
b2 2
(C) — Dy b-
d ( ) 4a 1

9. fu m fex & ak AD=(x+3) DB=(3x+19) W, AE=x Jut
EC=(3x+4) 9 3R DE||BC, @t x &1 T ¥
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\n the given figure, if AD=(x+3)cm, DB=(3x+19)cm,AE=x cm,

9.
gC=(3x+4) cm and DE| | BC, then the value of x is
A
%\ﬁd\ T
X Ccm
.
(3x+4)cm
g
B . 5 .
(A) 4cm (B) 1cm |
(C) 2cm (D) 3cm
10 19 |0 AF FY YATHS G T@A F GAWR A &
(A) 2 (B) 4 1
(C) S (D) 6 |
10. The arithmetic mean of the even positive numbers from 1 to 10 will be
(A) 2 (B) 4
(C) 5 (D) 6 1
|| W@ 156 I WG UFRECS &
(A) 2x3x 13 B) 2% x3x13

(C) 2?2 x3x 11 (D) 2x 3% x 13 1
11. Prime factors of the number 156 will be
(B) 22 «x3x 13

(A) 2x3x13

€ 22 x3x11 (D) 2x3%x13 1
12, % T it SRS HT AT S TEeTH FAw: 24 R 12 €, A FHRT AAE §

(A) 18 (B) 20

(C) 22 (D) 25 1
12. If mean and mode of a grouped data are 24 and 12 respectively, then its

median is

(A) 18 | (B) 20

(C) 22 (D) 25 . 1

|
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822(DW) 6
13, oz Yfigs @@ I 2x+3y=5, 4x+ky=10 F uRigg w9 | 3D &

P At kFAEE
(A _;_ (B) 1
C) 3 (D) 6 1

13. If the pair of linear equations 2x+3y=5, 4x+ky=10 has infinitely many

solutions, then the value of ks

A L B) I

2
€ 3 D) 6 1
14. ABC 3R BDER WHaR ¥ ¥ W&R & f& p 9o BC ®1 77 fag &1 Frgeit
ABC 3R BDE % &%l &1 U &
(A) 2:1 B) 1:2
€ 4:1 (D) 1:4 I

4. ABC and BDE are two equilateral triangles such that D is the mid-point of
BC. Ratio of the areas of the triangles ABC and BDE is
(A) 2:1 B) 1:2
(C) 4:1 (D) 1:4 1

15. 3fe cosA=375-.FﬁtanA+cutA$rm g

24
) 22 B 25
25 .y
625
) 825 o 625
576 5 == 1

15. If cosA=-2'—7§, then the value of tan A+ cot Ais

(A) %;— (B) %i-

(€) %.—3—56 (D) % !
16. ﬂfﬁﬂqﬁﬁfﬂﬂTﬁWWﬁmaﬁtﬂta}ﬁqﬁ#ﬁm*ﬂh*

TR {6 aet g Al gy &

(A) 5§ B) 6 Qdt

©) 7w (D) 25 /W
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7
16. If the radii of two circles are 4 cm and 3 c¢m respectively, then -thc raf:iius
| of the circle having arca equal to the sum of the areas of these circles is

(A) 5cm (B) 6cm

(€ 7cm (D) 2S5 cm 1
17 s TR x? - 3x-10=0 F I E

(A) 5,2 (B) §5,-2

(C) -5,2 D) -5,-2 .
17 The roots of the quadratic equation x* -3x-10=0 are

(A) 5, 2 (B) 5,-2

(C) -5,2 (D) -5,-2 1
g aft THAS ATH W UF AR H ST HY e ITH FAE B V3 T €, g

1 3IAGT BT &

(A) 60° | (B) 45°

(C) 30° (D) 90° . 1
18. If the length of shadow of a tower on the plane ground is J3 times of its

height, the angle of elevation of the sun is

(A) 60° (B) 45°

(C) 30° (D) 90° 1
19. 45 AW FHur¥ 3R 4 Y AW 96 UF Hifca® 31 So19 &l e 91 T

6t A9 & AW MeAl I TEAT ¢

(A) 3 B) S (C) 4 (D) 6 1
19. The number of solid spheres, each of diameter 6 cm that can be made by

melting a solid metal cylinder of height 45 cm and diameter 4 cm is

(A) 3 (B) S5

(C) 4 (D) 6 1
20. Iff AABC U% wHaTg I W YER 2 f% AD) BC, dt AD? SR &

(A) 3 DC? B 20 (© 32 pc? (D) 4 DC? I

20. If AABC is an equilateral triangle such that ADL BC, then AD%is

equal to
(A) 3 DC? B) 2DC? (¢ 3 pe? (D) 4 DC? :
2
02000/32
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gug -
Part - B
( farga swdta v )
( Detailed Answer Type Questions )
1. mﬂmaﬁﬁq

| fror T 4x? - 6x+5-0 T fafawa T Hifwg 3R R e Il
ﬁwﬁmaﬂﬁqu 2
3.0 At firen 1 UF I Wi | T9F 5 /@ 7.0 ¥ 7 o o fag A
g9 W WY 1@ I F T S0 | =@ & 95 wele § fafed | 2
(c) Al COS(A“B]=§ N sin(A+B]=i2_§-, 0°<( A+ B)<s90° AR
A:-B% FﬂAaﬁIBmmmaﬁml 2

() ﬂaﬁﬁwmﬁmﬂmghmqu}w,m%aﬁ
HT T | T W@ T I [T & | 9% G T HiAw ) 2
(f) ﬁnﬁﬁfmmwmﬁﬁq-

O A

(a) Find the discriminant of the quadratic equation 4x2 -

hence find the nature of itg roots.

1. Do all the parts :

6x+5=0&nd

2
30 cm. From a point 7-0 ¢cm away from its

centre, construct the pair of tangents to the circle. Write the st

cps
the construction in brief ps of
2

<{A+B)<90° and 4 > B,

(b) Draw a cirche of radius

3 .
(c) If cos(A—B)=-‘2£ and aln(MBl:{g_ 0°

then find the values of Aang 5
| 2

02000/32
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wing frequency distribution : 2

- i -70

~Class nterval | 40-45 | 45-50 [ 50-55 | 5560

—Frequency | 2 | 3 8 | 6 | 6 | 3 [ 2
f a two-digit number is 9. Nine times of this

() The sum of the digits o
number is twice the number obtained by reversing the order of th;

digits. Find the number. -
‘ ing data :
() Find the mode of the following _ -
9-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
eeney | 7 [ 1 [ 5 [ 22 [ 20 [ 11 [ 5] 8

2. (&l qf @URl ®I &A WIWT :
(a) (i) w@%wmﬁwwmnmmw%mwmﬁ.

(d) Find the median of the follo

aﬁg@Wh 2
ii) 867 3R 255 F HoWo aeTs faWH TSNS T FANT Fh T
Hirg | 2

(b) T WY1 TEN TF HAR & 9% d ol ¢ AR & R W w9 &
AREH T FR F 30° F HGIHA HI W 3@ &, A 6 HAR & UK H
AR TH HH O ¥ S E) 6 YFUS F% FR FN FTTHA BT 60° &
T W g /@ HMR F UK a9 Ug9d B SR R fordr T WHY §e

a’ﬂﬁtﬂ 4
©) WA A(-2,2) 3B (2 8) H g T @RI AB FI TR TR
st & farifors a3 et gt & PR e+ .

(d) T B 7 39 IWF W 3 FH ¢ AR W AR w® QAT F 2 ey v B,
ﬁ%ﬁﬂmwﬁaww%ﬁw%lwﬁimaﬂﬁm 4

€ TFH ABHR cDFF 0 T W% IW ¥ o ohaae :
wm%tﬂﬁOA=7@ﬁ,aiaqaﬂ:aég;ﬁa;$2;O£§:$

i
o
<
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150-250 | 250-350 | 350-450
2. Do any five parts :

(a) () Show that any positive odd integer is of the form 4g + 1 or
2

4q + 3, where g is some integer.

(i) Find the H.C.F. of 867 and 255 using Euclid's division
2

algorithm,

(b) A straight highway leads to the foot of a tower. A man standing at the
top of the tower observes a car at the angle of depression of 30°,
which is approaching to the foot of the tower with a uniform speed.
After 6 seconds the angle of depression of the car 'is found to be 60°.

Find the time taken by the car to reach the foot of the tower from this

point. https://www.upboardonline.com 4

() Find the coordinates of the points which divide the line segment
AB joining points A (-2, 2 ) and B (2, 8) into four equal parts. 4
(d) The numerator of a fraction is 3 less than its denominator. If 2 is

added to both the numerator and the denominator, then the sum of

new fraction and the original fraction is -g-g- Find the original

fraction. 4

(€) In the figure, AB and CD are two perpendicular diameters of g circle
with centre O. QD is diameter of the smaller circle. If OA = 7 cm find

02000/32
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() Find the mean of the following frequency distribution :

3. U& B I UF HIU G B & 0F A0 & e @ g 7 S0 w5 =
FA A I TR @, a fog B o 9t g gew aa £ 6

Jqar
BL 3R CM U §oehivl Bofst ABC %t miftqsrd & awn 30 fget 1 24 woaor
¢! fog #ifsw & 4(BL2+CM2)=5BC2 £

3. If one angle of a triangle is equal to one angle of the other triangle and the

sides including these angles are proportional, then prove that the two

triangles are similar. 6
OR
BL and CM are medians of a triangle ABC, right angled at A. Prove that
4(BL* +CM?)=5BC?. 6
4, T HIWT :
4 3
—-—+—=3
Vx Jy
8 9
] 6
Vx Jy
AYAr

i ATET T HIFAT | 6
9 Solve :

4 3

...._+.........=3

Vx Jy

8 9

-.-.-———-—:l 6

Vx Jy

OR

02000/32

[ Turn over

(3 scanned with OKEN Scanner



12

A motor boat, whos€ speed is 18 km/hour in still water, takes 1 hour

more to go 24 km upstream than to return downstream to the same Spot.

Find the speed of the stream. °

S u @ A A IR Y G G T G b 0 o & AHH A,
Sra S 24 T ¥ AW TR ot Il fdd @) frourd w8 A AR
20 At ¥1 40 o Wd T Bl W / T T B [ X FFHA aret g9 H oA
Ta AN (x = 3-14 T 6

HGAT

3 W W TE FIA 14 W P S T G AT E 1 I/ Frepedt g8 E @bl
T F IR AR 4 W NS TF JASR 9o §910 €, 9 ®F ¥ Fonad Th
TER H A TG A ¢ 1 3 SY B HAR TG DA 6

A container, opened from the top and made up of a metal sheet, is in the
form of a frustum of a cone of height 24 cm with radii of its lower and

upper ends are 8 cm and 20 cm respectively. Find the cost of milk which

can completely fill up the container, at the rate of Rs. 40 per litre.
(Usen=3-14)

6
OR

A well of di i
ell ol diameter 3 m ig dug 14 m deep. The earth taken out of it has

‘ all around the well in
width 4 m to form an embankment Find th

been spread evenly

the shape of a circylar ring of

e height of the ¢mbankment. g

—_—
822(DW) - 3,62,000
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